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D, = 9.  3.1416
s WO
T 3.1416 \, L EL . 3141441444 — — —
Inwhich ofth&ﬂng is anirrational number ?
(a) @ (b) 3.1416
7

(€) o (d)  3.141441444 - --

2. ®4aeﬁwa§u3%~ 1
B, ¥ x2-4X+6 9. x*+4x-6

.

QQW. x*-2x-24 ¥ x*+2x+24
Q Polynomial formed by the zeroes -4 and 6 is -

(@) x*4x+6 (b) x*+4x-6
(c) x*-2x-24 (d) x*+2x+24
3. AR TEUT 20- 3kxP+ax-5 D IRPT BT AT 6 S AK FTAF R | 1
F 2 T 4
. =2 g 4

The sum of the zeroes of the polynomical 2x? - 3kx2+4x-5 is 6 then
the value of k is-
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(a) 2 (b) 4

(c) -2 d) -4
4, HHBROT x-y=2 T x+y = 2 FHT T BT —
b, x=0,y=2 W9, x=2,y=0
M. x=4,y=2 Y. x=-2,y=0
The solution of the equation x -y = 2 and x+y = 2 will be - &
(@) x=0,y=2 (b) x=2,y=0 o
(€) x=4,y=2 d) 2=-2,y=0 o
5. TR IS AR WA & T4 SHHT ARG BF1T — 49 ¢ 1
.. FHRR g, a@zaa
T gfo=sdl 9 eresTee 2
Ifa pair of linear equations is consiste their graph will be -
(@) parallel &Iways coincident
(c) intersecting or coincide None ofthese
6. fEreme FHeRT -4 =0 @— 1
P, +02 9, +1
'!I» + 2 . +4
The zeroes of c&tlc equation x2 4=0are
(a) +0. 2 +1
(c) + (d) +4
2 +x+1=0FEA BT~ 1
4 g _1
Q . 2— 1
o The solution of equationx2+x+ 1=0 wull be -
Q @ 1 ) - -
© f @ =1
s gz gar=a” it @ < AR U 2a+ 1, 13, 5a- 3 €, 1 a BT AH
2 '
& 2 X, 4
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If three consecutive term of an A.P. are 2a + 1, 13 and 5a - 3, then
the valueofais -

(@) 2 (b) 4
() § d 0
9. g (3 4) P x- AR - 1
®. 3 g -3
U 4 ¥ 5
The distance of point (-3, 4) from x - axis ? &
(@ 3 b) -3 o

(c) 4 d 5 O
10. AR RFPx y) Rgali AG, 1) a2 (—1, 5) ﬂtg@&%a‘r

P, Sx=y 9. x=5y
AT 3x=2y g 2x=
If the point P (x, y) is equidistant from the @0i (5,1)and B (-1, 5)
then:
(@) Sx=y le =5y
(c) 3x=2y 2x=3y
1. IR S w9y et & ehT IUTT 3:5 B, T STd &bl
T ITIT BT — 1

®. 53 \0 g, 925

T 3:V5 9 711
The ratio o@f two similar triangle is 3.5, the ratio of their areas

willbe:

a) Q (b) 9:25

@ \5 d 1:1
@ and =3, ﬁElScee E’ITIT—

‘ g o2
25 | - 9 AP TE
Iftan® = 3, then Sec will be -
(@ 25 b) 2
(c) § (d) Noneofthese
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13.  Sin60°Cos30°-Cos 60°Sin30° T HH BN —
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The value of Sin 60° Cos 30° - Cos 60° Sin 30° will be -
@ 5 0 3
) L (d)  Noneofthese &
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If the angle of elevation is 45°, then hox@ will be the length of
shadow of atowerin suntoits height?:$

(a)%m @sm

(c) hm QI) None of these
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The are cle thatcan be inscribed in a square of side 10 is.
(a) 50 ,& (b) 25m cm?

Q) (d)  Noneofthese
X & Teb I @ DIVT O el FRuvs & T a9 B ofwrs
Q 0 !
Q P, 180x2nr g 180 x21 12
0
—_— — 2
Q vy 360 x2mr « 9. Top Xx2nr

The length of an are corresponding to a sector of angle 6 of a circle
with radiusris.

(a) 7g0 X2™ ' (b) Tgox2nr
(c) &x2nr (d) 9 x2nr?
360 720

(4)
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The area of a base of a right circular cone is 9n cm?, then the
diameter of its base is :

(@) 2cm (b) 3cm

(c) 4cm (d) 6cm
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®. 116 cm? g 126 cm? o
2
T 206 cm? L E 216cm? 0
The length of the diagonal of a cube is 6v3 cm. It@face area
is:
(@) 116cm? (b) 1
(c) 206cm? (d) m?

el 0,1,0,2, 3,2, 3, 4] _ 4
% g V&b I, 33l+

0

T. 2 . 4
The median of the nu@ 1,0, 2, 3 2, 3, 4is:

\. 0

4

(@ 3

(c) 2 0 (d)
TP IR T ST 8 o1 5 9 91 U el & o @l
, 1
g 3
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A dice is thrown once, the probability of getting a number greater
than5is:

@ 5 b =
(c) % (d)  Noneofthese
(foTE—10) (5) (PT.0.)



WGUg — g (Section - B) v ;J,ﬁ (2x5),= 10
L PRl A el s e e B | K2
®. A SechH=2,dd Sino, taneﬁwwalﬁmﬁaﬁw 12
If Sec® =2, then find Sino, tano tngonop)etric Ratios :
9. Cos 60° x Sin60° T HIH BT | X .(:q 2
The value of Cos60°x Sin60° willbe: '
T - P AR B FHarg 209, %Wwﬁmmw
TS 20\3 1. 2 | & 1 I=EH BT 3 DT |

A tower is 20m high and its shadow on the groure 0¥3m

long. Find the angle of elevation of the sun. *
g 6 QfL BFsur 9l U 99 B D gl =d
- Y RTIHT T 60° B | 2
Find the area of a sector of a cir radius 6¢cm if angle of

the sectoris 60°.

S uﬁwrﬁﬁzﬁm@smﬁﬁz%mﬁmm

Td DI | ‘ 2
If the surface ar sphere is 367 cm?. Find the volume of
the sphere.
7. fm@"f&&&aw,?ﬁmﬁﬂwmml 2
~ Finet ianofdata 3, 13,9,0,5,18,7
2 =gl [ BT A DI — 4x3=12
T @g 3T b V3 T SRy e B | 4

® Prove that V3 is airrational Number. o

a‘ﬁ:{a Bagqax2+6x+2a%n§% GERY Bwrm:fsnﬁ

/
< > PIAT | 4
Q If oL, B are the zeroes of the polynomial x2 + 6x + 2 then find
the value of-a + =

p
LI {ICED ‘ﬂTﬁEIWUT gﬂ? B A DIFTY — 4
——1 2, xy =6
Solve the pair of linear equations
___XX‘*' =2 ﬂ =6 \
xy roxy ‘
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4x?=3x -1 =0 Y Pof 7f g1x BT BT |

Solve the equation 4x? - 3x - 1 = 0 by the method of completing
the square.

frfoRad ¥ 5 &= vt gat i — 4x3=12
@ o DNA Cotd7 o ase BT A ST ART| 4
« (Cos47° tan 53°

. Sin 43° i Cot 37° V2 Cos
Findthe valueof 2 Cos 47 tan 53° &

1 Q

LCH ﬁ?@ ?ﬁﬁ”ﬂ ﬁ; 2+ tan29 ' C0t29 - SecZO +6 C29
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The circumference of two circle a@the ratio 2:3. Find the
ratio of circle areas.

9 UH 99 $I AGad 1331 @ mwwgﬁm

B 1 i 4

The volume ofa cuné%m c¢m3. Find the total surface area
ofthe cube.

frferfas 4 @12 BT | 8x1=8
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A man on the dech of a ship 14m a bone water level observes
that the angle of elevation of the top the cliff is 60° and the
angle of depression of the base of ciff is 30. Calculate the

- distance of the cliff from the ship and the height of the cliff.
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The arithmetic mean of following frequency distribution is 25.
Determine the value of P,

Class 0-10| 10-20| 20-30 30-40 40-50
Frequency 5 10 15 P 6
5. frr=ifead & | 18 ve yea Aoy — 8&= 8
. R FHERT T B T BIFT — o) 8
> + S 3; 6 =1 0
x-1 y- 2 ’ X-1 y-2 0’
Solve the pair of linear equation - Q 8
5 4 6 3

+ =3; - 5

X-1 y-2 x-1 y-2\
T4l or $
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